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- 0.1% FS
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(20/65536)*N
N=acceleration high 8 bits* 256+acceleration low 8 bits

(20/65536)*N
N=acceleration high 8 bits* 256+acceleration low 8 bits

(20/65536)*N
N=acceleration high 8 bits* 256+acceleration low 8 bits

(1260/65536)*N
N=angular rate high 8 bits* 256+angular rate low 8 bits

(1260/65536)*N
N=angular rate high 8 bits* 256+angular rate low 8 bits

(1260/65536)*N
N=angular rate high 8 bits* 256+angular rate low 8 bits

(360/65536)*N
N= angle high 8 bits* 256+angle low 8 bits

(360/65536)*N
N= angle high 8 bits* 256+angle low 8 bits

(360/65536)*N
N= angle high 8 bits* 256+angle low 8 bits

(200/65536)*N
N= temperature high 8 bits* 256+temperature low 8 bits

FRrE#UERA(3~22 bytes, AEIEWELFT), AREUR
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double[] sensors = new double[9];
sensors[0] = (short)((byte)buffer[0] + ((byte)buffer[1] << 8));
short)((byte)buffer[2] + ((byte)buffer[3] << 8));
short)((byte)buffer[4] + ((byte)buffer[5] << 8));

sensors[1] =

( ( ((byte)
( ( ((byte)
sensors[2] = ( ( ( )
sensors[3] = (short)((byte)buffer[6] + ((byte)buffer[7] << 8));
sensors[4] = (short)((byte)buffer[8] + ((byte)buffer[9] << 8));
sensors[5] = (short)((byte)buffer[10] + ((byte)buffer[11] << 8));
(short)((byte)buffer[12] + ((byte)buffer[13] << 8));
(short)((byte)buffer[14] + ((byte)buffer[15] << 8));

( (

short)((byte)buffer[16] + ((byte)buffer[17] << 8));

)
sensors[6] = )
sensors[7] = )
)

sensors[8] =

Il Accel X, y, z
Ax = sensors[0] * Accel_Scale / Sensor_Scale;
Ay = sensors[1] * Accel_Scale / Sensor_Scale;

Az = sensors[2] * Accel_Scale / Sensor_Scale;

/I Gyrox,y, z
Gx = sensors[3] * Rate_Scale / Sensor_Scale;
Gy = sensors[4] * Rate_Scale / Sensor_Scale;

Gz = sensors[5] * Rate_Scale / Sensor_Scale;

/I Roll, Pitch, Yaw
Roll = sensors[6] * Angle_Scale / Sensor_Scale;
Pitch = sensors[7] * Angle_Scale / Sensor_Scale;

Yaw = sensors[8] * Angle_Scale / Sensor_Scale;
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1. MIRE T BALRE (9, g = 9.80665 m/s?), PEERUEERBALZ (°/s), ESAERMRZ (°).

2. Accel_Scale = 20, Rate_Scale = 1260, Angle_Scale = 360, Sensor_Scale = 65536

3. short, XERHFASHI16MIKIELT, FEIEEERERFRIEN —EE@HFin—T LR



